Maths 1 Crossword
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	Across:

  1  12 ²

  3  91  +  11

  5  37095  ÷  3

  8  43180  ÷  17

  9  12x  + 17x  +  x

10  4(2x  +  y)

12  11 ³

14  87625390  ÷  10

17  1352700  ÷  100

18  9947  +  7  X  8

20  100000  + 10101
	23  1000  X  20

24  13 ³

25  19 ²

27  2 (2a  +  7)

29  21027  ÷  3

31  17 ²

32  4001 X  4

33  16 ²

34  14y  ÷  2  +  3


	Down:

  1  50  +  75

  2  (8x  +  4y)  ÷  2

  3  500  X  5

  4  16½  +  4½

  6  3(x  +  4y)

  7  8x  +  7  X  2  -  2x

  9  7 ³

11  107  X  10

13  8549  X  2
	15  753190  -  1

16  1539  X  10

19  100  X  41

21  4(3a  -  b)

22  12ab  +  3ab  -  5ab

24  950  +  1180

26  2a  +  8  X  2  + 3a

28  12  X  11

29  9 ³

30  17 + 5000

32  100¼  +  4¾


Maths 1 Crossword  -  Answer Sheet
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This puzzle was compiled in seconds using Toolbox.

For a free trial go to www.discoveryeducationalsoftware.co.uk/toolbox_e.htm
